
evwl©K cixÿvi wm‡jevm 
lô †kÖwY 

welqt evsjv 1g I 2q cÎ 
 

m„Rbkxj †gvU cÖkœ _vK‡e 4wU, DËi w`‡Z n‡e 2wU| 10×2=20, eûwbe©vPbx= 15×1=15 
gvbe›Ub 
M`¨vs‡ki m„Rbkxj cÖkœ  t 10 b¤̂i 
KweZvs‡ki m„Rbkxj cÖkœ  t 10 b¤̂i 
mvivsk/ mvigg© I cÎ/ `iLv¯Í  t 15 b¤̂i  
‡gvU  t 35 b¤î 
 
1g c‡Îi eûwbe©vPbx cÖkœ t 07 b¤î 
2q c‡Îi eûwbevPbx cÖkœ  t 08 b¤̂i 
me©‡gvU = t 50 b¤î 
 
M`¨vsk t bxj b` Avi wcivwg‡Wi †`k, gv`vi †Z‡imv, †Zvjcvo, mZZvi cyi¯‹vi 
KweZvsk t Rb¥f~wg, myL, gywRe, gvbyl RvwZ 
fve-m¤úªmviY t 1, 2; KweZvit 2, 4 
mvivskt 1, 2, 3  (†evW© eB), mvigg©t 1, 2, 3 
evsjv 2q cÎ ˆbe©̈ w³K Ask t aŸwbZË¡, iæcZË¡, weivg wPý 
 

welqt Bs‡iRx 1g I 2q cÎ 
Seen Passage  : Lession 9, 13, 15, 17 
 

Mark distribution : 
Part A (Seen Passage) -    20 
1. Choose the best answer from the alternatives 5×1=5 
2. Answering questions 5×2=10 
3. Fill in the gap without clues (textual) 5×1=5 
 Part B: Grammar 4×5=20 
4. Article 10×0.5=5 
5. Right form of verbs (tense based) 5×1=5 
6. Transformation of sentences (Affirmative to negative,  
 Assertive to interrogative exclamatory to assertive,  
 active to passive) 5×1=5 
7. Punctuation marks & capitalization 5×1=5 
Part C (Writing Dialogue) Answer any one of two  (10×1=10) 
8. Writing (Dialogue) 

(a) Write a dialogue between two friends about tree plantation. 
(b) Write a dialogue between two friends about the preparation for the coming examination 
(c) Write a dialogue between two friends about buying books in the book fair 
(d) Write a dialogue between two friends about the importance of learning English 
(e) Write a dialogue between two friends about your hobbies. 

welqt MwYZ 
gvbe›Ubt 50 (m„Rbkxj= 35, eûwbe©vPbx= 15 (wet ª̀t m„Rbkxj †gvU 6wU cÖ‡kœi g‡a¨ 3wU cÖ‡kœi DËi w`‡Z n‡e 
(3×10=30) I mswÿß cÖkœ 1wU (5×1=5)| eûwbe©vPbx 15wU cÖkœ _vK‡e 15wUi DËi w`‡Z n‡e| cÖwZwU cÖ‡kœi gvb-1 
(15×1=15) 
 

cvwUMwYZ  t Abykxjbx 1.3, 1.4, 1.5, 2.2 
exRMwYZ t Aa¨vq 4 
R¨vwgwZ t Aa¨vq 6 (ïay msÁv) 
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evwl©K cixÿvi wm‡jevm 
mßg †kÖwY 

welqt evsjv 1g I 2q cÎ 
 

m„Rbkxj †gvU cÖkœ _vK‡e 4wU, DËi w`‡Z n‡e 2wU| 10×2=20, eûwbe©vPbx= 15×1=15 
gvbe›Ub 
M`¨vs‡ki m„Rbkxj cÖkœ  t 10 b¤̂i 
KweZvs‡ki m„Rbkxj cÖkœ  t 10 b¤̂i 
mvivsk/ mvigg© I cÎ/ `iLv¯Í  t 15 b¤̂i  
‡gvU  t 35 b¤î 
 
1g c‡Îi eûwbe©vPbx cÖkœ t 07 b¤î 
2q c‡Îi eûwbevPbx cÖkœ  t 08 b¤̂i 
me©‡gvU = t 50 b¤î 
 
M`¨vsk t (1) jLvi GKz‡k (2) giæ-fv¯‹i (3) kã †_‡K KweZv (4) †iv‡Kqv mvLvIqvZ †nv‡mb 
KweZvsk t (1) Kzwj-gRyi (2) †kvb GKwU gywRe‡ii †_‡K (3) mvg¨ (4) GB Aÿ‡i 
fve-m¤úªmviY t ‡evW© eB‡qi 1, 4, 5 I 8 bs 
mvivskt  5, 6; mvigg© t 1,3 
evsjv 2q cÎ ˆbe©̈ w³K Ask t fvlv, aŸwb eY©, KviK I wefw³, evK¨ 
 

welqt Bs‡iRx 1g I 2q cÎ 
Seen Passage  : Unit: 5, 7, 9 
  

Mark distribution : 
Part A (Seen Passage) -    20 
1. Choose the best answer from the alternatives 5×1=5 
2. Answering questions 5×2=10 
3. Fill in the gap without clues (textual) 5×1=5 
 Part B: Grammar 4×5=20 
4. Article 10×0.5=5 
5. Narration (Assertive & Interrogative) detached 5×1=5 
6. Transformation of sentences (Affirmative to negative, Assertive to integrative,  
 Assertive to exclamatory to assertive, active to passive) 5×1=5 
7. Punctuation marks & capitalization 5×1=5 
 

Part C (Writing Paragraph) Answer any one of two  (10×1=10) 
8. Writing (Paragraph) 

(a) School Magazine (b) A Railway station (c) Tree Plantation (d) Begum Rokeya (e) 
Sheikh Fajilatun Nesa (f) Importance of Learning English 

 

welqt MwYZ 
gvbe›Ubt 50 (m„Rbkxj= 35, eûwbe©vPbx= 15 (wet ª̀t m„Rbkxj †gvU 6wU cÖ‡kœi g‡a¨ 3wU cÖ‡kœi DËi w`‡Z n‡e 
(3×10=30) I mswÿß cÖkœ 1wU (5×1=5)| eûwbe©vPbx 15wU cÖkœ _vK‡e 15wUi DËi w`‡Z n‡e| cÖwZwU cÖ‡kœi gvb-1 
(15×1=15) 
 

cvwUMwYZ  t Aa¨vq 1.3 
exRMwYZ t Aa¨vq 4 
R¨vwgwZ t Aa¨vq 8 
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evwl©K cixÿvi wm‡jevm 
Aóg †kÖwY 

welqt evsjv 1g I 2q cÎ 
 

m„Rbkxj †gvU cÖkœ _vK‡e 6wU, DËi w`‡Z n‡e 2wU| 10×2=20, eûwbe©vPbx= 15×1=15 
gvbe›Ub 
M`¨vs‡ki m„Rbkxj cÖkœ  t 10 b¤̂i 
KweZvs‡ki m„Rbkxj cÖkœ  t 10 b¤̂i 
mvivsk/ mvigg© I cÎ/ `iLv¯Í  t 15 b¤̂i  
‡gvU  t 35 b¤î 
 
1g c‡Îi eûwbe©vPbx cÖkœ t 07 b¤î 
2q c‡Îi eûwbevPbx cÖkœ  t 08 b¤̂i 
me©‡gvU = t 50 b¤î 
 
M`¨vsk t (1) AwZw_i ¯§„wZ (2) fve I KvR (3) c‡o cvIqv (4) ˆZjwP‡Îi f~Z Ges (5) Gev‡ii msMÖvg ¯̂vaxbZvi msMÖvg 
KweZvsk t (1) gvbeag© (2) e½f~wgi cÖwZ (3) `yB weNv Rwg (4) cv‡Q †jv‡K wKQz e‡j Ges (5) cÖv_©bv 
fve-m¤úªmviY t ‡evW© eB‡qi 1 bs †_‡K 8 bs ch©šÍ 
mvivsk/ mvigg© t 2.9 ev‡` meKwU 
cÎ / `iLv¯Í t †evW© eB‡qi wbgš¿Y c` ev‡` me 
evsjv 2q cÎ ˆbe©̈ w³K Ask t †evW© eB‡qi cvV wk‡ivbv‡gi 1.1 bs †_‡K 5.2 bs ch©šÍ 
 

welqt Bs‡iRx 1g I 2q cÎ 
Seen Passage  : Unit v (Lession 1, 2, 3) 
 : Unit vii (Lession 1, 2, 4) 
 

Mark distribution : 
Part A (Seen Passage) -    20 
1. Choose the best answer from the alternatives 7 × 1=7 
2. Answering questions 4×2=8 
3. Fill in the gap without clues (textual) 5×1=5 
4. Suffix & prefixes 10×0.5=5 
5. Narration (Passage) 5×1=5 
6. Translation of sentences (Jsc exam standard) 5×1=5 
7. Punctuation marks & capitalization 5×1=5 
 

Part C (Writing E-mail ) Answer any one of two (10×1=10) 
8. Writing (E-mail) 10 
 (a) Write an E-mail to your friend congratulant him/her for his brilliant success 
 (b) Write an E-mail to your friend describing the cultural programs of your school 
 (c) Write an E-mail to your friend thanking for the birthday gift from your friend 
 (d) Write an E-mail to your friend about the preparation of the coming exam. 

welqt MwYZ 
gvbe›Ub t 50 (m„Rbkxj= 35, eûwbe©vPbx= 15 (wet`ªt m„Rbkxj †gvU 6wU cÖ‡kœi g‡a¨ 3wU cÖ‡kœi DËi w`‡Z n‡e 
(3×10=30) I mswÿß cÖkœ 1wU (5×1=5)| eûwbe©vPbx 15wU cÖkœ _vK‡e 15wUi DËi w`‡Z n‡e| cÖwZwU cÖ‡kœi gvb-1 
(15×1=15) 
 

cvwUMwYZ  t Aa¨vq 1, 3 
exRMwYZ t Aa¨vq 4 
R¨vwgwZ t Aa¨vq 8 
cwimsL¨vb t Aa¨vq 11 
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evwl©K cixÿvi wm‡jevm 
beg †kÖwY 

welqt evsjv 1g I 2q cÎ 
 

m„Rbkxj †gvU cÖkœ _vK‡e 6wU, DËi w`‡Z n‡e 2wU| 10×2=20, eûwbe©vPbx= 15×1=15 
gvbe›Ub 
M`¨vs‡ki m„Rbkxj cÖkœ  t 10 b¤̂i 
KweZvs‡ki m„Rbkxj cÖkœ  t 10 b¤̂i 
mvivsk/ mvigg© I cÎ/ `iLv¯Í  t 15 b¤̂i  
‡gvU  t 35 b¤î 
 
1g c‡Îi eûwbe©vPbx cÖkœ t 07 b¤î 
2q c‡Îi eûwbevPbx cÖkœ  t 08 b¤î 
me©‡gvU = t 50 b¤î 
 
M`¨vsk t (1) myfv (2) eB cov (3) cwjø mvwnZ¨ (4) gvbyl gynv¤§` (mv.) Ges (5) wbgMvQ 
KweZvsk t (1) e½evYx (2) K‡cvZvÿ b` (3) Rxeb m½xZ (4) gvbyl Ges (5) cwjø Rbbx 
fve-m¤úªmviY t ‡evW eB‡qi 1bs †_‡K 8 bs ch©šÍ 
mvivskt 1 bs †_‡K 5 bs ch©šÍ 
mvigg© t 1 bs †_‡K 5 bs ch©šÍ 
cÎ/ `iLv¯Í t †evW© eB‡qi gvbcÎ I evwYwR¨KcÎ ev‡` me 
evsjv 2q cÎ ˆbe©̈ w³K Ask t ‡evW© eB‡qi cwi‡”Q` 1bs †_‡K 22 bs ch©šÍ 
 

welqt Bs‡iRx 1g I 2q cÎ 
Seen Passage  : Unit 1 ,  Unit 3 
  

Mark distribution : 
Part A (Seen Passage) -    20 
1. Choose the best answer from the alternatives 7×1=7 
2. Answering questions 4×2=8 
3. Fill in the gap without clues (textual) 5×1=5 
 Part B: Grammar 4×5=20 
4. Right form of verbs 10×0.5=5 
5. Taq questions 5×1=5 
6. Transformation of sentences (SSC standard without  
 simple, complex, compound)  5×1=5 
7. Suffix and prefixes 0.5×10=5 
 

 Part C (Writing Dialogue) (10×1=10) 
8. Writing (Dialogue) 

(a) Write a dialogue to your friend about covid 19/Corona Virus. 
(b) Write a dialogue between you and your uncle about climate change 
(c) Write a dialogue to your friend about the merits and demerits of mobile phone 
(d) Write a dialogue to your friend about good effects of morning walk/physical exercise 
(e) Write a dialogue between two friends what they intend to do after the exam. 

 

welqt MwYZ 

gvbe›Ub t 50 (m„Rbkxj= 35, eûwbe©vPbx= 15 (wet`ªt m„Rbkxj †gvU 6wU cÖ‡kœi g‡a¨ 3wU cÖ‡kœi DËi w`‡Z n‡e (3×10=30) I 
mswÿß cÖkœ 1wU (5×1=5)| eûwbe©vPbx 15wU cÖkœ _vK‡e 15wUi DËi w`‡Z n‡e| cÖwZwU cÖ‡kœi gvb-1 (15×1=15) 
 

exRMwYZ t Aa¨vq 3, 5 
R¨vwgwZ t Aa¨vq 6, 7 
wÎ‡KvbwgwZ t Aa¨vq 9 
cwiwgwZ t Aa¨vq 16.2 
cwimsL¨vb t Aa¨vq 17 

http://cbs.wondershare.com/go.php?pid=5261&m=db


wbe©vPbx cixÿvi wm‡jevm 
`kg †kÖwY 

welqt evsjv 1g I 2q cÎ 

m„Rbkxj †gvU cÖkœ _vK‡e 6wU, DËi w`‡Z n‡e 2wU| 10×2=20, eûwbe©vPbx= 15×1=15 
gvbe›Ub 
M`¨vs‡ki m„Rbkxj cÖkœ  t 10 b¤̂i 
KweZvs‡ki m„Rbkxj cÖkœ  t 10 b¤̂i 
mvivsk/ mvigg© I cÎ/ `iLv¯Í  t 15 b¤̂i  
‡gvU  t 35 b¤î 
 
1g c‡Îi eûwbe©vPbx cÖkœ t 07 b¤î 
2q c‡Îi eûwbevPbx cÖkœ  t 08 b¤î 
me©‡gvU = t 50 b¤î 
 
M`¨vsk t (1) myfv (2) eB cov (3) Avg-AuvwUi †fucy (4) gvbyl gynv¤§` (mv) (5) wbg MvQ (6) GKvË‡ii w`b¸wj 
KweZvsk t (1) e½evYx (2) K‡cvZvÿ b` (3) gvbyl (4) cwjøRbbx (5) Avgvi cwiPq (6) ¯v̂axbZv, G kãwU Kxfv‡e Avgv‡`i n‡jv 
fve-m¤úªmviY t 6, 8, 9, 11, 12, 13, 15, 17, 18, 19, 22 
mvivskt 16, 18, 20, 21, 24, 25, 27 
mvigg© t 1, 4, 7, 6, 8, 11, 12 
cÎ/ `iLv¯Í t †evW© eB iPbv m¤¢v‡ii gvbcÎ I evwYwR¨KcÎ ev‡` me 
evsjv 2q cÎ ˆbe©̈ w³K Ask t 2q, 3q I 4_© Aa¨vq GmGmwm cixÿvi mswÿß wm‡jevm Abyhvqx| 
 

welqt Bs‡iRx 1g I 2q cÎ 
Seen Passage  : Unit : iii, v, vii 
  

Mark distribution : 
Part A (Seen Passage) -    20 
1. Choose the best answer from the alternatives 7×1=7 
2. Answering questions 4×2=8 
3. Fill in the gap without clues (textual) 5×1=5 
 Part B: Grammar 4×5=20 
4. Fill in the gap with clues 10×0.5=5 
5. Completing sentences 5×1=5 
6. Transformation of sentences (SSC standard without simple, 
  complex, compound) 5×1=5 
7. Suffix and prefix 0.5×10=5 
 Part C (writing paragraph) Answer any one out of two 10×1=10 
8. Writing (Paragraph) 10 
 (a) Corona virus 
 (b) A school library 
 (c) Globalization 
 (d) Environment pollution 
 (e) A tea stall 
 

welqt MwYZ 

gvbe›Ub t 50 (m„Rbkxj= 35, eûwbe©vPbx= 15 (wet`ªt m„Rbkxj †gvU 6wU cÖ‡kœi g‡a¨ 3wU cÖ‡kœi DËi w`‡Z n‡e (3×10=30) I 
mswÿß cÖkœ 1wU (5×1=5)| eûwbe©vPbx 15wU cÖkœ _vK‡e 15wUi DËi w`‡Z n‡e| cÖwZwU cÖ‡kœi gvb-1 (15×1=15) 
 

exRMwYZ t Aa¨vq 3, 13 
R¨vwgwZ t Aa¨vq 8 
wÎ‡KvbwgwZ t Aa¨vq 9 
cwiwgwZ t Aa¨vq 16.3, 16.4 
cwimsL¨vb t Aa¨vq 17 

http://cbs.wondershare.com/go.php?pid=5261&m=db



